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NEW QUESTION 1
A Salesforce Administrator has initiated a deployment using a change set. the deployment has taken more time than usual. What is the potential reason for this?

A. The change set includes changes to permission sets and profiles.
B. The change set includes Field type changes for some objects.
C. The change set includes new custom objects and custom fields.
D. The change set performance is independent of included components.

Answer: A

NEW QUESTION 2
Universal Containers operates from North America and does business within North America. UC has just acquired a local company in Asia to start operating from
Asia. Currently, these two business units operate in two different languages. Both units have different sales processes and have to comply strictly with local laws.
During the expansion phase, UC would like to focus on innovation over standardization. What should an architect recommend given the scenario?

A. Opt for Multi-org strategy, standardized sales process, common rules, and same locale across orgs.
B. Opt for Single-org strategy, standardized sales process, common rules, and same locale for all business units.
C. Opt for Single-org strategy, standardized sales process, common rules, and business unit-specific locale
D. Opt for Multi-org strategy, each org have its own sales process, common rules and operate in locale

Answer: D

NEW QUESTION 3
Universal Containers (UC) has integrated with their on-premise billing system using Salesforce Connect. The data is configured using an External Object in
sandbox. UC wants to deploy the external object to production using the Metadata API and would like to know what Metadata types to choose for deployments to
production. Which two options are valid metadata types related to deployment of external objects? Choose 2 answers.

A. In change sets, external objects are included in the custom object component.
B. In the Metadata API, the External Object metadata type represents external objects.
C. In change sets, external objects are included in the External Object component.
D. In the Metadata API, the Custom Object metadata type represents external objects.

Answer: AD

NEW QUESTION 4
Universal containers have recently replaced a custom service center application with Salesforce Service Cloud. Administrators are now confused about which
fields and classes are actively being utilized and how future implementations can be maintained. Choose 2 answers

A. Create an adoption plan for end users using Salesforce dashboards and reports.
B. Create a design standard requiring integration to use declarative configurations patterns
C. Create a governance process requiring all projects to create project deliverable documentation.
D. Create a standard method for deprecating classes and fields using design standards.
E. Create a governance framework focused on high-level business strategy and goals.

Answer: CD

NEW QUESTION 5
Which two groups are responsible for the creation and execution of Release Management processes? Choose 2 answers

A. Steering Committee
B. End Users
C. Dev/Build Team (Missed)
D. Center of Excellence (Missed)

Answer: CD

NEW QUESTION 6
Universal Containers (UC) is considering updating their Salesforce Release Management process. Which three best practices should UC consider for Version
Control? Choose 3 answers

A. Maintain separate developer branches for minor and major releases.
B. Automation is a must with various application branches in the repository.
C. Maintain unrestricted access to the release sandboxes for all changes being deployed.
D. Maintain a single repository for application with individual branches for projects.
E. Maintain a single entry point for production from the master branch.

Answer: ADE

NEW QUESTION 7
A year has passed since a project has gone live and a developer is looking to make an update to an existing Apex class, but is unsure of its purpose. What artifact
from the original project should be leveraged to determine the purpose of the class?

A. User Acceptance Test Scripts
B. Test Execution Plan
C. Requirements Traceability Matrix
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D. Test Sign Off Document

Answer: C

NEW QUESTION 8
Universal Containers (UC) is implementing a governance framework and has asked the Architect to make recommendations regarding release planning. Which
two decisions should the Architect make when planning for releases? Choose 2 answers

A. How to test existing functionality to ensure no regressions are introduced.
B. Whether Salesforce will wait to upgrade the pod until after a UC release is complete.
C. How to roll back to the previous Salesforce release if there are issues.
D. When to test a new UC feature release if there are issues.

Answer: C

NEW QUESTION 9
Universal Containers has multiple project teams integrating Salesforce to various systems Integration Architects are complaining about the various integration
patterns used by the teams and lack a common understanding of the integration landscape. What should architect recommended to address the challenges?

A. Implement a data governance policy and publish the documentation to all teams.
B. Recommend an outbound message design pattern to be used for all teams.
C. Recommend a fire-and-forget design pattern to be used for all teams.
D. Create design standards focused on integration and provide training to all teams

Answer: D

NEW QUESTION 10
Universal Containers (UC) has used Salesforce for the last 6 years with 50% custom code. UC has recently implemented continuous integration. UC wants to
improve old test classes whenever new functionality invalidates tests. UC also wants to reduce the deployment time required. What should Architect recommend?

A. A Do not execute any test classes in sandboxes and Production.
B. Do not execute test classes in sandboxes and all test classes in Production.
C. Test classes cannot be executed in sandboxes.
D. Execute all test classes in sandboxes and selected test classes in Production.

Answer: D

NEW QUESTION 10
Universal Containers (UC) is planning for a huge data migration as part of their Service Cloud implementation. UC, has approximately 15million customers, 30
million contacts, and 30 million active cases. Which two key areas of UC's data migration test plan should be included? Choose 2 answers

A. API's to be used for data migration.
B. Success criteria for data migration.
C. Target Salesforce Server and Source system IP address.
D. Manual and Automated data validation approaches.

Answer: AB

NEW QUESTION 11
Universal Containers (UC) wants to shorten their deployment time to production by controlling which tests to run in production .UC's Architect has suggested that
they run only subsets of tests. Which two statements are true regarding running specific tests during deployments? Choose 2 answers

A. To run a subset of tests, set the Run Specified Tests test level on the DeployOptions objects and pass it as an argument to deploy() call.
B. run a subset of tests ,set the RunLocalTests test level on the DeployOptions object and pass it as anargument to deploy() call.
C. Specify both test classes and individual test methods that are required to be executed as both are supported in DeployOptions.
D. Specifying the test method is supported in DeployOptions, therefore specify only the test classes that are required to be executed.

Answer: AD

NEW QUESTION 15
Universal Containers is validating an outbound change set from the Developer Sandbox to the production org. Which two locking behaviors will occur during a
deployment? Choose 2 answers

A. The production org will be locke
B. Administrators cannot modify metadata during this time
C. The sandbox org will be locke
D. Administrators cannot modify metadata
E. The production org will be locke
F. Users can only Read data during this time
G. The production org will be locke
H. Users will still be able to Read/Write data to the org

Answer: AD

NEW QUESTION 16

Passing Certification Exams Made Easy visit - https://www.2PassEasy.com



Welcome to download the Newest 2passeasy Development-Lifecycle-and-Deployment-Designer dumps
https://www.2passeasy.com/dumps/Development-Lifecycle-and-Deployment-Designer/ (227 New Questions)

Universal Containers (UC) has two major releases every year and the team always run into longer deployment times. In which 2 ways can UC reduce deployment
time? Choose 2 answers?

A. Use recent deployment validations and the quick deploy feature.
B. Deploy components in groups to reduce deployment time.
C. Specify the test to run by using RunSpecifiedTests test level.
D. Validate the deployment before migrating components to production.

Answer: AC

NEW QUESTION 19
Universal Containers (UC) is developing a custom Force.com application. The following tools are used for development, the Force.com IDE for developing apps.
Git as a source control system and a Git repository, and the Force.com Migration Tool for updating sandboxes from source control. UC's current branching strategy
calls for two main branches: 1) Master 2) Develop Three supporting branches: 1) Feature 2) Release 3) Hotflix Consider that the branching strategy is in parallel as
follows Feature |Develop |Release |Hotfix |Master What is the recommended practice strategy that Developers should adopt for Development?

A. Developers work off of the Feature branch, which is pulled from the Master branch and the Feature branch is then merged with the Develop branch.
B. Developers work off of the Feature branch, which is pulled from the Develop branch, and the Feature branch is then merged with the Develop branch.
C. Developers work off of the Feature branch, which is pulled from the Release branch, and the Feature branch is then merged with the Develop branch.
D. Developers work off of the Feature branch, which is pulled from the Develop branch, and the Feature branch is then merged with the Hotfix branch.

Answer: B

NEW QUESTION 21
Universal Containers has developed teams working on multiple projects. They are exploring a source control tool to track and manage their code/config. What two
benefits does a source control tool provide? Choose 2 ans

A. Provide the ability for distributed teams to work in isolation.
B. Provides automated code/configuration deployments.
C. Provides the ability to backup code/configuration changes.
D. Provides the ability to automatically identify issues in code/configuration.

Answer: AC

NEW QUESTION 26
Universal Containers (UC) development team is using an Agile tool to track the status of build items, but only in terms of stages. UC is not able to track any effort
estimates, log any hours worked, or keep track of remaining effort. For what reasons should UC consider using the agile tool for effort tracking?

A. Allows the organization to track the Developers work hours for salary compensation purposes.
B. Allows the management team to make critical timeline commitments based solely on developer estimates.
C. Allows the Developer to compare their effort, estimates and actuals to better adjust their future estimates.
D. Allows the management team to manage the performance of bad developers who are slacking off.

Answer: C

NEW QUESTION 30
Universal Containers (UC) is planning for a huge data migration from a home grown on-premise system to Salesforce as part of their Service Cloud
Implementation. UC has approximately 5 million customers,10 million contacts, and 30 million active cases. Which are the three key areas that should be tested as
part of Data Migration? Choose 3 answers

A. Case association with correct contact and Account.
B. Case assignment rules and escalation rules.
C. Case Ownership along with associated entitlement and milestones.
D. Data transformation against the source system.
E. Page Layout assignment to the profiles

Answer: ACD

NEW QUESTION 33
Universal Containers (UC) is working on a project to support environmental cleanup projects with specially designed containers. To support this project, UC is
developing a portal for regulatory agencies to use for tracking and reporting of the containers, and these regulatory requirements are well-defined. Many non
-regulatory requirements have not been defined yet. The project is on a strict budget and timeline. Which two approaches should UC consider to meet regulatory
requirements and to satisfy the needs of end users? Choose 2 answers

A. Initiate a waterfall project and start building the features of the solution based on regulatory requirement
B. In parallel, gather the remaining non -regulatory requirements for the solution, then go back and reconcile the two sets of requirements and re -work the solution
as necessary
C. Initiate an Agile project, beginning with a "sprint 0" to scope and estimate the project and to build the product backlo
D. Identify the minimum viable produc
E. Initiate building the solution based on the backlog, and co -create the design with the project stakeholders
F. Initiate a waterfall project by gathering the remaining requirements and completing the architecture and desig
G. Initiate the build/test processes with frequent reviews by the stakeholder
H. On build completion, perform acceptance testing and validate compliance with regulatory requirements
I. Initiate an Agile project based on the known requirements, begin building immediately, and work through remaining requirements as they come u
J. Budget and timeline will not be a factor with an Agile methodology

Answer: AC
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NEW QUESTION 36
Universal Containers is building a custom application on the Force.com platform. There is a budget and release date that has been set by the board of directors,
but the application must meet the requirements that will be submitted and voted on by a public user community. What is the risk associated with the scenario?

A. The requirements should not be solicited by an external community
B. The project is not using the Waterfall methodology
C. The project is not using an Agile methodology
D. The requirements are unknown and the release date has been set.

Answer: D

NEW QUESTION 40
Universal Containers has several concurrent projects building new functionality, fixing bugs, and modifying existing functionality. Management would like features
to be available to users as quickly as possible, even if the entire project is incomplete. What should an Architect recommend to maintain quality?

A. Require developers to deploy completed code and unit tests directly to production
B. Deploy all functionality together to ensure all functionality works together without error
C. Use a spreadsheet to track approved changes that should be released with change sets
D. Utilize automated source control, test, and build systems to test and deploy to production

Answer: D

NEW QUESTION 44
Universal Containers wants to do weekly releases to production. What approach will mitigate the risk of bugs being inadvertently introduced to production?

A. User Acceptance Testing
B. Use of an Agile Methodology
C. Requirements Traceability
D. Automated Testing

Answer: D

NEW QUESTION 46
Universal Containers business users often observe that newly released features are resulting in other previously existing and stable functionality being broken.
Which approach should an Architect recommend to prevent regression?

A. Utilize the developer console to run test suites for the affected functionality
B. Utilize unit and functional test automation as part of a continuous integration strategy
C. Utilize Salesforce Apex Hammer to automatically test all functionality
D. Freeze development of new features and re -architect the system to remove the bugs

Answer: B

NEW QUESTION 51
......
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